FUNCION
l.- y=3
2.- y=x+t5
3- y=x
4- y=x"-x
5- y=2x*
6.- y=ax+b
7.- y=5x-2
8- y=da’
9- y=ax’+bx+c
10.- y=x(x—1)
11.- y=(x+1)(x—1)
12.-  y=ax’+bx’+cx+d
13- y=x’—x’+4x-5
14.- y=x"—4x’+5x°
15.- y=2x’+3x’-6x+5
16.- y=(x+1)(x’—x+3)
17- y=x(x—1)
18.- y=a(x—1)
19- y=a(a—1)
20.- y=x"°
1
21 YT+
2
2. y=X3
X +x
x+1
23.- y= x
. :x(x+12)(x—1)
3x"—3
+2)°
25 y=Xx¥2S
X +4x+4
26.- y=+3x-2

EJERCICIOS DE DERIVADAS

DERIVADA

y’=0
y’=1
y'=7x°
y'=6x"—3x"
y'=8x’
y'=a
y'=5

y':
y'=2ax+b
y'=2x—-1
y'=2x
y'=3ax"+2bx+c
y'=3x2—2x+4
y'=4x"—12x’+10x
y'=6x"+6x—6
y'=3x"+2
y'=3x2—4x+1
y'=2a(x—1)

—x"+10x"+3
(x*4+x)°
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48.-

y=In(x’+1)
y=In(ax’+bx+c)
y=1In"3x
y=x"Inx

y=x’In(2—x)

y=Ig,(1+x%)
y=In(x—5)

y=Ig,(3x*+5)
y=x-Inx—x

y=InvV1+x’

y'=x

y:\/ZX—l
X
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Y _(—l—x)\/l—xz
y'=4e™
y'=2-5"In5
y'=—2xe> "
y,:ex—e_x
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5In*3x
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y'=x*(5Inx+1)
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2In(2—x)—
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1° Bachillerato CNS

1—x
49.- y=1
y= 1+x
2
+1
50.- y:lnx2
x =1
51.- y=sen2x

52.- y=cos(2x+1)
53.- y=tg(x’+x+1)

54.- y=tgVx

55.- y=sec(3x’+4x—1)

X
56.- y=cosec—
57.- y=+sen3x

58.- y=sen”’x

59.- y=Xxcosx

60.- y=Insenx

61.- y=senx-cos2x

62.- y=e'tgx

63.- y=arcsen2x

64.- y=arcsen Vx

65.- y:arccos(x2+ 1)

66.- y=ltg3x—tgx+x

3

67.- y= arctgg

68.- y— 1—senx
1+ senx
69.- y=Intgx

70.- y=In 1+cosx
1—cosx

71.- y=In+senx

'=—sen

=1
y:1—x2
. —4x
y:x4—1
y'=2cosx

y'=—2sen(2x+1)

y'=(2x +1)sec’ (x*+x+1)

1 2
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72.-
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74.-
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76.-

77.-
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79.-

80.-
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89.-

90.-
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y=arcsecx

y=arcctg(2x+1)

y=sen(sen 2x)

y=sen(In(3x+5))

y=arcsen(cosx—x)
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